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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This question Paper contains 50 MCQ type objective questions. Each question has four answer options given,
viz. A, B, C and D.

2. Only one answer is correct. Correct answer will fetch full marks 2. Incorrect answer or any combination
of more than one answer will fetch =% marks. No answer will fetch 0 marks.

3. Questions must be answered on OMR sheet by darkening the appropriate bubble marked A, B, C, or D.
4. Use only Black/Blue ball point pen to mark the answer by complete filling up of the respective bubbles.
5. Mark the answers only in the space provided. Do not make any stray mark on the OMR.

6. Write question booklet number and your roll number carefully in the specified locations of the OMR. Also
fill appropriate bubbles.

7. ‘Write your name (in block letter), name of the examination centre and put your full signature in appropriate
boxes in the OMR.

8. The OMRs will be processed by electronic means. Hence it is liable to become invalid if there is any mistake
in the quesion booklet number or roll number entered or if there is any mistake in filling corresponding
bubbles. Also it may become invalid if there is any discrepancy in the name of the candidate, name of the
examination centre or signature of the candidate vis-a-vis what is given in the candidate’s admit card. The
OMR may also become invalid due to folding or putting stray marks on it or any damage to it. Thc_
consequence of such invalidation due to incorrect marking or careless handling by the candidate will be solf:
responsibility of candidate.

9. Rough work must be done on the question paper itself. Additional blank pages are given in the question
paper for rough work.

10. Hand over the OMR to the invigilator before leaving the Examination Hall.
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1. Who proposed the five kingdom classification
system?

(A) R.H. Whittaker
(B) Lamarck

(C) Charles Darwin
(D) G.J. Mendel

2. The process of formation of spermatozoa from
spermatozoa is called

(A) Spermatogenesis
(B) Spermiogenesis
(C) Spermiation
(D) Luteal phase

3. Laccifera lacca produces
(A) Silk
(B) Shellac
(C) Acetocarmine
(D) Tanic acid

4. The surprising products of Miller's experiment
were '

(A) Peptides

(B) Nucleotides
(C) Nucleosides
(D) Amino acids

5. Oral contraceptive pills helps in birth control by
(A) killing sperms
(B) killing ova
(C) preventing ovulation

(D) formation of barrier between sperm and
ova
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6. Ringelmann scale is used to measure density of
(A) Smoke
(B) Fog
(C) Polluted water
(D) Rain

7. Velamen is seen in the epiphytic roots of
(A) Vanda
(B) Cuscuta
(C) Piper
(D) Curcuma

8. The causal organism of plague is
(A) Mycobacterium tuberculosis
(B) Fersinia pestis
(C) Haemophilus influenzae
(D) MNocardia sp.

9. Thecellorganelle whichis devoid of amembrane
is
(A) Ribosome
{B) Lysosome
(C) Centrosome
(D) Liposome

10. The process by which glucose is produced from
glycogen is called

(A) Gluconeogenesis
(B) Glycolysis

(C) B-oxidation

(D) Glycogenolysis
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11. Late blight of potato is caused by
(A) Alternaria alternate
(B) Phytopthora infestance
(C) Colletotrichum falcatum
(D) Aspergillus flavus

12. Jutefibreis obtained from which part of the plant?
(A) Leaf
(B) Fruit
(C) Flower
(D) Stem

13. The antibiotic streptomycin is produced by the
bacterium

(A) Bacillus pelymyxa
(B) Streptomyces griseus

(C) Streptomyces aureofaciens
(D) Bacillus subtilis

14. Haplontic alternation of generation is seen in
(A) Dryopteris
(B) Polysiphonia
(C) Spirogyra
(D) Ectocarpus

15. When coenzyme is combined with apoenzyme, it
is called

{A) Co-factor

(B) Holoenzyme

(C) Enzyme-substrate
(D) Allosteric enzyme
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16. Inflorescence whichis characteristic of the family
- Asteraceae

(A) Cymose
(B) Capitulum
(C) Racemose
(D) Vericillaster

17. Castor is the host plant of
{A) Antheraca mylitta
(B) Antheraca assamensis
(CY Philosomia ricini
(DY Bombyx mori

18. In which plant multiple root cap is observed?
(A} Ficus benghalensis
(B) Pandanus foetidus
(C) Pistia stratiotes
(D) Lemna trisula

19. Thehormone involvedin cell division of plants is
{A) Gibberellin
(B) IAA
(C) Zeatin
(D) 2,4-D

20. When the leaf base becomes swollen and forms a
cushion, it is termed

(A) Amplexicaul
(B) Ligule

(C) Pulvinus
(D} Auricule
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21. Which one of the following plants do rof show
hydrophilous pollination?
(A) Vallisneria
(B) Hydrilla
(C) Ceratophyllum
(D) Helianthus

22, Fluid mosaic model of cell membrane was
proposed by

(A) Robertson

(B) Singer and Nicolson
(C) Danielli and Davson
(D) Danielli and Harvey

23. Which of the following is not a disease of
silkworm? :

(A) Flacherie

(B) Muscardine

(C) Grasserie

(D) Ranikhet disease

24, The cell organelle in which hydrolytic enzymes
are found

(A) Ribosomes
(B) Mitochondria
(C) Lysosomes
(D) Plastids

25, Thesource of restriction endonuclease Hind [T is
(A)Y Halomonas maura
(B) Haemophilus influenzae
(C) Halobacterium halobium
(D) Hansenula canadensis
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26: Who proposed the ‘one gene one enzyme'
hypothesis?

(A) Beadle and Monad
(B) Avery and Jacob
(C) Alexandar Fleming
(D) Jacob and Monad

27. Chromosome puffs are seen in
{A) Polytene Chromosomes
(B) Lampbrush chromosomes
(C) B-Chromosomes
(D) Accessory Chromosomes

28. Whichcomponentofsalivaactsasan antibacterial
substance?

(A) Lipase
(B) Lysozyme
(C)- Maltase
(D} Ptyalin

29. Which of the following air pollutants is a
hydrocarbon?

{A) Hydrogen sulphide
(B) Benzene

(C) Ozone

(D) Sulphur dioxide

30. For Saccharomyces which of the following
statemnent is not correct?

(A} It is a member of Ascomycota
(B) It reproduces by budding

(C) It produces ethyl alcohol

(D) It forms myxospores
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31. Each secondary spermatocyte developed from
primary spermatocyte contain

(A) 44XY Chromosomes

(B) 22X Chromosomes

(C) 22Y Chromosomes

(D) 22X or 22Y Chromosomes

32. Crossing over occurs during which sub-stage of
Prophase I?

(A) Diplonema
(B) Zygonema
{C) Leptonema
(D) Pachynema

33. The primary reserve food material of fungi is
{A) Amino acid
{B) Strach
(C) Glycogen
(D) Cellulose

34, Whichoneofthe followingcellsisinvolvedinthe
production of antibodies?

{A) Helper T cells

(B) B-lymphocytes
(C) Suppressor T cells
(D) Monecytes

35. Cholesterol is usually synthesized in
{A) Pancreas
(B) Spleen
(C) Liver
(D) Stomach
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36. Which of the following is the endocrine function
- of ovary?

(A) Secretion of oestrogen and progesterone
(B) Formation of primodial follicle

(C) Formation of Graffian follicle and ova
(D} Secretion of prostatic fluid

37. Testosterone hormone is produced by
(A) Hepatic cells
(B) Graffian follicles
- (C) Leydig cells
(D) Acinarcells

38. Which one of the following is nof a part of the
Iymphatic system?

{A) Thymus

(B) Lymph nodes
(C) Spleen

(I} Pancreas

39. Which of the following cell organelle contains a
structure called ‘oxysome’?

(A) Ribosomes
(B) Lysosomes
(C) Chloroplast
(D) Mitochondria

40. In which organ Henle's loop is found?
{A) Liver
(B) Heart
(C) Kidney
(DY Lungs
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41. Which of the following is a sex-linked discase?
{A) Haemophilia
{(B) Albinism
{C) Sickle cell anaemia

(D) Small pox

42, Best method to conserve genetic material of
wildlife is
(A) Cold storage
{B) Tissue culture
(C) Seed storage
(D) Growing in natural habitat

43. Which of the following is the causal agent of
‘amoebiosis’?
(A) Taenia saginata
(B) Ascaris lumbricoides
(C) Entamoeba histolytica
(D) Plasmodium vivax

44, Which of the following instrument is used for
measuring plant growth?

{A) Hygrometer
(B) Potometer
{C) Barometer
(18)] Auxanometer

45, The ‘Theory of Natural Selection’ was published
in the year .

(A) 1780
(B) 1858
(C) 1920
(D) 1913
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46. The proteolytic enzyme of the stomach is

(A) Pepsin
(B) Peptone
(C) Tryptone
(D) Lysozyme

47. Pollen tube at the time of entering embryosac has

(A) 4 gametes

(B) 3 male gametes
{C) 2 male gametes
(D) 1 gamete nucleus

48. Alkaloid which could mef be obtained from

Rauvolfia serpentina,
(A) Reserpine
(B) Serpentine
(C) Ajmaline
(D) Vasicol

49. Which is the primary pollutants?
(A) CO
(B) PAN
(C) O,
(D) Hydrocarbons

50. Male larva of silk worm possess
(A) Ishiwata’s Gland
(B) Herold’s Gland
(C) GreenGland
(D) Pineal Gland
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